DT COOUO0U0UIT>r»rCOSZ4003$Z2>»2Z20T1T
TO0< — 21V >»—ZTVTV>IOXTOOZ T=ZC=ZmM

mXxX<Z2>»20>»r200NX0TO0>»>»O0OCO0OCZ

TU PORTARE

IO TORNARE

IO NUOTARE

TU NUOTARE
TU IMPARARE
TU GUARDARE
NOI NUOTARE
LEI MANDARE
TU LAVORARE
LEI PENSARE

IO LAVORARE
TU ARRIVARE
LEI LAVORARE
LEI IMPARARE
TU ASPETTARE
VOI GUARDARE
LEI ASPETTARE
LORO GUARDARE
TU COMINCIARE
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IO PENSARE

TU TORNARE

IO MANDARE

TU ABITARE

10 IMPARARE
LEI NUOTARE
NOI ABITARE

LEI ABITARE

LEI TORNARE
LEI PORTARE

IO CUCINARE
LORO NUOTARE
LEI GUARDARE
VOI IMPARARE
VOI ARRIVARE
LORO TORNARE
VOI ASPETTARE
LORO IMPARARE
LEI COMINCIARE
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IO ABITARE

IO PORTARE

TU PENSARE

TU MANDARE
VOI MANDARE
IO ARRIVARE

IO GUARDARE
VOI NUOTARE
VOI ABITARE
NOI PORTARE
VOI TORNARE
NOI CUCINARE
LEI ARRIVARE
LORO PORTARE
LORO MANDARE
LORO ABITARE
VOI CAMMINARE
LORO ARRIVARE
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